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TR & YR W AR SIH-aR AURT 1t HA-at &1 IR & I S TIar &1 A0S 81 g I A S gAR srazgasarsii &t gfif git 8, aamuR & wa1-
RN W ENe B

R & frrd 3R afd <t & wffferd 81 smR iR aftres a7t wmfg & fu st & oresT SMTeRUT @A 954 HIaTd ¢l 39 I § U9 AT A1feul
3BT T 0T I 3FF TR e § §TH T IHd gl YH R IY TP IR ATIRT 51 I, i S 3H1eH Team 8l & Ib I JH9H IoH &
AR Tgd HH AT 1 S AT JI J UH IR &, IP 3T ISTHT &b BH-PIoT 3R FaeR H IRId- 3RIT 3R 3e3-sX HT &1 3a%g 1 38T 7

IR B SHTTAT SR AT WU BT BT AT I 7 AR B SISl § 3R 7 By A D11 G 3 AUIST THAM gonl € N Het Brgan Hf s
BN, U8 WaaR I YR -T6] I1feU Ja1 B UdaR & WeR U= TR 374d FaU™ H 1d B 318 Aigd Yo I o1 d o & gfSurit 81 gRaR
BY-IR SIS <1 ¥ I 78l e TR 3 g9R J@-AIeAT Bl IThR AR Siia Pl TR a1 [T 31 §9R fAxna yad, e sieTferpid, [Wes

i, Thrloodd ®e-he awd, faggd-Usme, 333N, dR, TifaeH, ¥ 3R Hek ¥d AR AUR W g 3f3d g

Q.No: 1 fau T fosedt # & Iuad TeY & forw I v &1 9

2705251S0

A IR HT A/ ATURT B TGl BT 36
B AT & "IYT

C IR § 3 R Frafa

D AR T FARIRIETE Wia=r

Correct Ans : A

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

= - fou T e @ ugeR UE T URA & T Sfud IaR a1 faded! &1 Tu difo-

TR 3R FIGT 3 AT & WYl & Jay §9H § areH faar 81 F=f aramand & e 8 3= gl & SR it g8 §1 it g wirh wwir T8 €|
R & YR W AR SIH-aR GUFT 1t BA-Hdl &1 IR & I ST G1Fal &1 AUES 81 G ¥ A S gART sraxgasaradi &t gff it §, SR & §a1-
RN W G e gl

R § 3mard 3R Frafa 31 & aftifera 81 oamR iR a1fdre &) a9 & e STuR &1 3resT SR T 9gd IR ¢ | S I I U FHRAT 91|
3B AT TG 0T I 3P TARE el T TIH T THA g1 T SR 3 Th IR ATIRY 1 b7, Fiifes S el T giar 8 IF U JH9H I6H &
AR Tgd HH AT &1 SN AT II J UH IR &, SP 3T I &b HTH-FTol 3R FaeR B IRId- T 3R - F1 &1 3axg &1 38T 7
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TR Y SMRMMATET 3R AT WHIF HT g1 F1ST | S 7RI G B MaGehdl § 3R 7 H1Y HA DI Al 1S NST THIH g3 § o Hd Braar +ff S
BN, I8 e I GaRMT -Ta] I1gU| YaT BT TddR & JgR 30 TR 3fd TG Bt 1 b1 I8 Ifed HaR J FAwra d I ST 81 FRaR
BY-IR BIS S T I 78} BT SR 3 gUR J@-TIEA! Pl IgThR AR iad P TR a1 fHar g1 g9R fIxna ya=, e e, Wes

g, Trloodd we-he awd, faggd-Usme, &), ar, TaifaeH, ¥ ok Hick ¥d AR TR W g 3f¥d g

Q.No: 2

270525151 ° JoT TR & SR S Y T FIfore-

A IR B SMAETE} R T UG BT 4T TR I/ 7 FARTT 81 Y sira=aspan 8 SR 9 By HI @

B R A TR GE-AIEH] B TTHR gUR Sitad &1 7R ST fwar g1

fo AR ® maTd 3R fyemga Y & wftifea &1 AR ok a1ty 3t agfe & R st &1 st SmaRr T@HT g e 7
D IR & ATYR W AN STH-dR AU W} Ba-pal §1 SAUR € 32 B T3 o1 q1ues 2l

Correct Ans : C
Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

&z R fow U T @Y ek U TN uR & ged Ifd IR ATt fAdmed! w1 997 Hifore-

TR 3R FIGT 3 ATdrTd & WAl & Jay §9H § are fear 1 aef aramand & A § 3 gl & SR ot g8 §1 Uit g wirh Twir T8 g
R & YR W AR SIH-aR AURT 1t BA-ot 1 IR & I S Y1Ial o1 A0S 81 g S A S ARt straxgasaradi &t gfif it 8, R & wa1-
RN W e B

R ¥ 3mard 3R Frafa 39 & aftifera 81 oamR SR aifdres &) g & e STuR &1 3resT SRR T 9gd 3aRad | S I I UF FHRAT 918
3fhdT TG 0T I 3P TGRS Fel T AW T THd 8 Jb SR I Th IR AR §1 b7, Fiifes S e T giaT & ISP U JHaH S6H &b
AR Tgd HH AT &1 S AT TF F UH IR &, I7P 3T IS &b BH-PIoT 3R FdeR B IRId- RIT 3R 3e3-5R HT &1 3/d%g 1 8l 7

IR B SMRMATET 3R Ui TWHIT BT ST AT | S/ 7RI G B SMaGHdl § 3R 7 HIY B DI Al TS ST THIH g § o o Braar +ff S
BT, I8 e I GaRMT 18] I1eT| T B! UdaR & JgR 30 AR 37d TIJHG Pt 1 b1 I8 Iled HaR I Fpra o I § FfeHmt 81 gRax
BY-IR BIS A T I 78} BT SR 3 §UR J@-TIEAT Bl IThR gAR Siia Pl TR &l fhar 31 §9R faxna yae, e ETferpd, [Wes

i, Trriloodd ®e-he awd, faggd-Usme, 33N, dr, TaifaerH, ¥d 3R Mek 96 AR JUR W g 3f¥d g

Q.No: 3 SN X
570525152 = 7 gyreme § S 91 999 22

A e gH Y

B o1 9w

C Sgife Ta™
D ST AR

Correct Ans : D

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

&z R fou U TR #Y e U@ TN URA & 9ad 3fd IR AT f[Aded! BT 99 Hiford-

TR 3R FIMOT 3 AT & WIeEl &1 gAY §94 § I faar g1 Fi aramand & el 8 3= gl & SR it g8 71 Uit g wirh Jvi1 781 &
IR & YR W AR STH-aR AU ff BA-Hd &1 SR &) I F T BT AUES 81 GO 3 I o gART srazassarsft &t gff gt 8, R & 9a-
RN R G e 3


https://applink.adda247.com/d/XhqWf9lSap

Adda247

IR § g 3R Fafd 31 & aftiferd 81 oamuR iR aifdres &) a9 & T STuR &1 3resT SRR T 9gd IR ¢ | 3 I I U FHRAT 91|
B AT TG T[0T I 3P TARE el T TIH T THA g1 T SR I T IR AIRY 1 b7, Fiifes S el e giar 8 Id U T4 I3H &b
AR Tgd HH AT &1 SN AT II F UH IR &, IP 3T I & HTH-PTol 3R FaeR B IRId- AT 3R - HT &1 3a%g &1 38T 7

TR Y SMRMATET 3R Ui WHIT HT g1 AT | S/ 7RI 8 B 1aRgehdl § 3R 7 HY HRA DI Al S ST THIH g3 § O Hd Braar +ff S
BT, I8 Waax I GRMT 18] I1eT| a7 B! UqaR & JgR 30 TR 37dT IIHG Pt 1 b1 I8 Ifed HaR F At d I # ST 81 gRax
BY-IR BIS A T I 78} BT SR 3 gUR J@-TIEA! I IgThR AR oiiad P TR a1 fHar g1 g9R faxna ya=, THge sEifered, Wes

i, Trloodd ®e-he awd, faggd-Usme, &), ar, TaifdeH, ¥ ok Hiek ¥d AR TR W g 3f¥d g

Q.No: 4 ST TR & SR, S ART , 3% U AT & HTH-HTol AR FTER H IFId- ST 3R S-§R FT A A ST
2705251S3 q‘ga‘[%|

TT AV FAE
frafa @ tw #va §
STH-aR YR & 09 #d €
3T A W9 P &

Correct Ans : A

0O @ >

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

&R ST B UgaR T T U=RAl & Ja9 I Ik a1dl [adedl &1 9o difore-

Fft dpet WA G-
Y TR TROT a1 &R,

T Aavis do I,
TORT QRH 9Y BT IR
HH BIY-¥ et o1t H
BIRCRIRSR=CRITG

g5d <-4 fagT Bl @7,
foreRd v, 7 Rd !

Pt s ydl &1 A
YebeT fdehe Rl 3R
PSP, HSH I U T TG,
WRf I&dT § IR ;

o ufival & o= 9 gH
T Y & U8 WR,
e Rd Y S
U5 $g & P YR |

Q.No: 5 " . !
570538350 [T 1 9 Sue Ufedl & T BT AT Farge-

A Iy g feax
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B HRETATd agad)
C TgTedt qut
D IgiETeT ua

Correct Ans : D

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

A3 Hroai &) UgHR U T U= & o Ifd Ik a1d fawedl &1 T Hifor-

Fft dpet WA G-

Y TR TROT g1 &R,

T Aot Haft g,
IO JRH 9Y Bl TR
FH BI-¥ off i 319 |
BIRCRIRSR=CRIG

god <-4 fagT Bl @,
foraRd v, 5 o !

Fot sraE Yl &1
PEZARCEIAR I RCICAN
PSP, HSH I A T TG,
WRf I&dT § IR ;

ftx ufial & o=l ¥ gH
T WY & U9 TR,
e Rd Y ST
THE g & I YHUIR !

QNO: € oy A w-a e T T W @R AT S T 82

2705383S1
A e
B 39T
C e
D ERGE)

Correct Ans : B

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

A& ST B UgHR T T U & Ja I IaR a1d [abent o7 o difore-
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Fft dpet WA G-I
3 TR R TR R,

T Aavi d 3,

FOHT TRH AH DI TR,
I BIY-¥ e St H
BIRCRIRR=CRITG

g5d <-4 fag Bl @,
forgRd v, 5 oRd !

Pt 3D ol BTl
Yebel fadbe el 3hR
HSH,HSH o TUA TH T,
Rf I&dT § TR ;

o ufval & o= 4 g4
T Y & U8 WR,
e R YR S
UHS 3G & B YR |

Q.No: 7 = & 9 e &1 o R/7 82

2705383S2
A e, T
B aie; dfs®r
C faftr, oo
D quT, A

Correct Ans : B

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

A3 HTi &) TgdhR U T U & T Ifd Sk a1dl faswedl &1 T Hifor-

Fff AT R T
Y TR TROT g1 &R,

T Aot Bt g,
ToRT TR Y BT TR;
Pl B i St A
RIRCRIRR:GRIN

g5d <-4 fag Bl @,
foraRd v, 5 R |

ot s Ydl &1
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Yebel fdse el 3hR
HSH,HSH TId T &9 T,
2T oM 8 WK ;

o il & = @ &1
T Y & U9 WR,

TG R Y e 7,

U%S 33 P P YPIR !

Q.No: 8 Iudad dfdaal & SER Raa wE &1 gfd sifme-
270538353

R F 9= § g9 guT Hu & U TR, TS &Ra YR H, UhS 3G & B YPUR|

A ufa, et

B ypel, fave

C P, APt
i, 95

Correct Ans : A

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Q.No: 9 In the below question, consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent
2677060 paragraph. Select the most logical order of sentences from among the options.

P. The recent acute water shortage in Chennai has fuelled concerns that a potential water crisis is awaiting India's large
cities.

Q. However, businesses in the city, like the vibrant auto industry, must find their own ways to deal with the crisis.
R. A train is now meeting the city's public needs by ferrying water every day from nearby Vellore.

S. Tamil Nadu's capital city did impose water cuts from June to conserve resources, but a prolonged dry spell caused its four
main reservoirs to run dry.

A PQRS
B SPQR
C PSRQ
D QSPR

Correct Ans : C

Subject : Gen. English (English Lang 2)

Q.No: 10 In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given
2677213 sentences, and choose the option that provides the correct final order.

P. The house where they stopped was very odd indeed.

Q. It was made of red and yellow bricks and it stood on great posts sunk deep into the ground.
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R. Opening the white door that fairly shone, it was so clean, they were in the kitchen.

S. Such a kitchen it was, so cosy and so quaint!

A SQRP
B SPRQ
C PSQR
D PQRS

Correct Ans : D

Subject : Gen. English (English Lang 2)

(22.7'\;.?61713 Select the correctly spelt word.
A Perseverance

B Persiverance

C Peresevariance

D Persivarence

Correct Ans : A

Subject : Gen. English (English Lang 2)

Q.No: 12 1In the question below, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given
2717996 sentences, and choose the option that provides the correct final order.

P. The only thing he could do was to go and talk to Mr. Tonks, whose big elephant, Jumbo, was tied by the leg to a great
tree.

Q. Jumbo was too big to go in a cage.
R. He was out in the field, and was always pleased to see Jimmy.

S. He lifted the boy on top of his huge neck, and gently blew his hair up straight - a favourite trick of old Jumbo's.

A PQSR
B SQRP
C SPRQ
D PQRS

Correct Ans : D

Subject : Gen. English (English Lang 2)

Q.No: 13 The sentences in the paragraph have been jumbled. Rearrange the following sentences into a meaningful sequence.
2718022

A. Not all social issues are permanent in society.
B. There are many such social issues which existed earlier.
C. But with changing mind-sets and awareness among the citizens, many have been abolished.
D. For instance, Sati system was one such social issue which was actually cruelty against women.
A ACDB
B CDAB

C ABCD
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D CBDA
Correct Ans : C

Subject : Gen. English (English Lang 2)

Q.No: 14 'N' small cubes are formed after melting a large hollow cuboid of dimension 18 cm * 15 cm * 12 cm with thickness 3 cm. If
2703343 gide of each small cube is 1.5 cm, then find the value of 'N'.

3 AT A 18 I * 15 A * 12 I F W I TH IS WA T B fUudE & 91 'N' B 79 994 o
g B U9 BT YD Yol 1.5 I 7, d 'N' &1 A 1 Y2

824
A

824

768
B

768

1012
C

1012

759
D

759

Correct Ans : B

Subject : MATH

Q.No: 15 The length & breadth of a rectangular field are 120 m and 90 m respectively. A park of 14 m width is made inside the field.
2703370 Find the area of park.

THh AAHR e Pt ars 3R Aes HHT: 120 Hiex 3R 90 HieR 1 AgH & 3icR 14 Hicx WS &1 U Ul ST 74T B
Ul &1 &7%d J1d I

4096 sqm

4096 T Hiew

3846 sqm

3846 T Hiex

6236 sqm

6236 T Hicx
D 5096 sqm
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5096 T Hicx

Correct Ans : D

Subject : MATH

Q.No: 16 The side of a square is increased by 13.6% then it’s area is increased by :
2703371

T& T B YT H 13.6% B Jh 81 ¢, A1 39P &70d # bt ghe Rf?

29.64%
A

29.64%

28.54%
B

28.54%

29.04%
C

29.04%

29.84%
D

29.84%

Correct Ans : C

Subject : MATH

Q.No: 17 The ratio of measure of an angle of a regular octagon to the measure of its exterior angle is:
2703372

TP TH VY P Ub HI0 $ AT B, 3P aTel HI & A I 3Id &

2:5
A

2:5

3:1
B

3:1

7:2
C

7:2

3:2
D

3:2

Correct Ans : B

GET IT ON

Google Play
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Subject : MATH

Q.No: 18 = PQRS is a cyclic Quadrilateral. two angent from point A is drawn at pont P and R If 2PAR =
2703373 gge Find ~PSR: 2PQR.

PQRS U& T e ¢l Hg A . fagp 3R W oy vRi@m @i+ St §1 9f 2PAR = 88°.
T 2PSR : £PQR 7T FIfa|

23:67
A

23:67

7:2
B

7:2

22:23
C

22:23

29: 16
D

29: 16

Correct Ans : A
Subject : MATH

Q.No: 19 The length of the side of cube was increased by 200%, 100% and 100% to obtain length, breadth and height of a cuboid.
2703374 Then volume of cuboid becomes:

T B qa1S, SRS 3R SHaTs U B & oY, T B Yol B dals 200%, 100% 3R 100% TS SIct ¢ 1 dl G-I BT M1 g ol 8-

6 times
A

6 T

12 times
B

12 A1

2 times
Cc

27

4 times
D

47

Correct Ans : B
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Subject : MATH

Q.No: 20 Inthe given circle, O is the center of the circle such that »COA =407,
2703379 then find the value of 2CBA ?

U gea #, 0 39 YR dod &l e & T 2COA=40°F,
dr 2CBA T #AT AT S|

35°
A

35°

25°
B

25°

20°
C

20°

45°
D

45°

Correct Ans : C
Subject : MATH

Q.No: 21 Diagonals of a parallelogram ABCD are 16 m and 12 m respectively. If one side is 10 m, then find the area of parallelogram
2703380 ApcD.

TF AR IgYs ABCD & faohuf wu=r: 16 Mer 3R 12 Hiex §1 3 th Yo 10 eR B, @ 0GR Igyst ABCD &1 85t d 1d HIfon|

96 sqm

96 T #Hiex

B 24 sqm
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24 31 Hiex
48 sqm

Cc
48 if Hiex
112 sqm

D
112 & Hex

Correct Ans : A

Subject : MATH

Q.No: 22 The ratio of area of two circles are in the ratio 36 : 49, then what is the ratio of their diameters?
2703381

3 99 & Bl BT UM 36 : 49 g1 3P N BT U T 82

6:7
A

6:7

6:49
B

6:49

2:3
C

2:3

81: 36
D

81: 36

Correct Ans : A

Subject : MATH

Q.No: 23 A circle and rectangle have same perimeter. The side of rectangle are 18 cm and 13 cm. The area of the circle is:
2703382

TP g IR 3Md & URETT THH §1 3T BT Yol 18 I 3R 13 It §1 I FT &% g:

961 mcm?

961 w A TAT

B 916 m* cm?
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916 m2dAT AT

916 mecm?

916 w T THT

961 cm®

™

961 T THT

m

Correct Ans : D

Subject : MATH

Q.No: 24 A teacher assigned a work to a student to complete it by __ pm. Students started work at 10: 30 am and worked for 6
2703408 hoyrs 45 minutes due to which he completed the work 20 minutes before the actual time.

% e A v et & nes__ 99 9% W A F fon ue i i)
fommdf 3 gafg 10:30 s w1 L= faT 3R 6 2 45 e dd S fhar e RO I IRAfd®s THT ¥ 20 e ued & [-1 3 fom|

6:15
A

6:15

5:55
B

5:55

5:35
C

5:35

6:05
D

6:05

Correct Ans : C

Subject : MATH

Q.No: 25 Sum of which of the two fractions is maximum?
2703409

43 13

3 7
A=B=-C==,D =
5 o 45 15
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< el o 9 forgeeT aed Sifiean 72

43 13

3 7
A=B=Ic==2D-=
5 9 45 15

Aand B

A 3R B

B and D

B3R D

AandC

AR C
CandD

Cc3RD

Correct Ans : D
Subject : MATH

Q.No: 26 Following table represents the monthly income and monthly expenditure of four employees of a company.
2703410

Employee | Monthly income (in | Monthly expenditur
rupees) (in rupees)
A 28000 18400
B 20000 14400
C 26400 12000
D 16000 14000

Respective ratio of monthly income of B and D together to the monthly savings of A and C together is same as the
respective ratio of .

I. Monthly income of A to monthly expenditure of D.
II. Monthly expenditure of B to monthly savings of A.
III. Monthly savings of A to monthly savings of C.

Which among I, II and III correctly fills the blank?

Fraffad e T Su=t & IR HHARG! BT Aiki® 31F 3R 7IRYS 59 B eid! 3|

Tl | il g (Fea ) | miEs e (Fed )
A 28000 18400
B 20000 13400
C 16400 12000
D 16000 13000
TH 1Y B 3R D B ARG 3T qUT TH 1Y A 3R C $I ARG Fad HT T SuTd o ¥ Y SruTa & THH g

I. A S HIR® 3 3R D F AR oyl
II. B 3! i 99 3R A P Al sed|
III. A & AR §9d 3R C 3! Al s=d|
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I, 11 3R 11 & § SH Rad R & 98t &l I [T BT 82

Only I
A

Faq 1

Only I1
B

Fad 11

Only III
c

Fad 111

Both I and II
D

I 3R 11 gFF

Correct Ans : B

Subject : MATH

Q.No: 27 Which of the following statement is true?
2703411
I. Sum of 1212, 334 and 298 is 1834.
II. When the sum of 912 and 445 is subtracted from 1366, then the resultant is 9.

ITI. Sum of 339 and 185 is 16 more than the sum of 96 and 412.

fafafad # @S9 1 Hy 99 82
I. 1212, 334 3iR 298 &1 ITHT 1834 B
II. 91§ 1366 | ¥ 912 3R 445 &1 TN B! YT SdT 8, d GRUIA 9 gl §1

I11. 339 3R 185 BT ANTHA 96 3R 412 & AHA J 16 3 B
Only I and I1

Fad I 3R II

Only I1

*Had II

Only II and III

®ad II 3R III

All I, IT and II1

gt 1, 11 3T 111

Correct Ans : C

Subject : MATH
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Q.No: 28 Denis has 20789 unread mails from which 7652 are meant to be deleted while rest of them are important. If he finds that
2703426 ¢ of 7652 mails, 2340 mails are actually important, then find the number of important mails.

39 & U 20789 3Ufdd (unread) Ad & FHH ¥ 7652 fEdite fu oM § wefe 30 He@yul €1 afe 98 urdn § fb 7652 Aal A § 2340
A IRad H Aeayul §, o Aeayul Adl ST I= 1 B

16407 mails
A

16407 Ad

12407 mails
B

12407 ¥q

15477 mails
C

15477 94

13137 mails
D

13137 °q

Correct Ans : C

Subject : MATH

Q.No: 29 Neerav, Vijay and Mukesh went for shopping in a nearby mall. The flyers above shirts, ties and pants corner says, take 2 for
2703440 Rg, 200, 3 for Rs. 150 and 4 for Rs. 800 respectively.

Neerav 10 shirt, 6 tie. 4 pants
Vijay 6 shirt, 3 fie. 2 pants
Mukesh | 8 shirt, 1 tie, 1 pants

Study the given table above and choose the correct answer.

Hika, fao SR ey Fde & te Afg 7 A oA 7T 3

e, T8 3R e B R F FW &1 FardR (0= gfgeT) sardr g fb HH: 200 393 & 2, 150 ¥93 # 3 3R 800 39T # 4 g
da |109c 6T, 4t
oo |e6arc, 3ers, 2 te
AHY |89, 125, 1 8E

PR T TS AIMABT BT 37eHTT HINTT 3R g IR BT I97 Hifod|

Amount paid by Mukesh is less than Vijay but greater than Neerav

THY GRT YA B TS 4RI faorg F 4, Afe ke I sifte &

B Amount paid by Vijay and mukesh together is less than Neerav
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T 1Y ey 3R g gRT YIa 1 7€ ¢RI TRa A HH 2

Amount paid by Neerav is less than Vijay but greater than Mukesh

g gRT YA B 7S 4= faem @ oW, afed gew I ofte §

Amount paid by Vijay is less than Neerav but greater than Mukesh

fasr g1 YA &Y € e=Rf ke @ #W, afea gew I oifte @
Correct Ans : D

Subject : MATH

Q.No: 30 A green packet of chips costs 5 rupees 20 paisa and a blue packet of chips costs 6 rupees 85 paisa. If Rohan buys 22 blue
2703441 packets and 49 green packets and he gave 500 rupees to the shopkeeper, then the shopkeeper returned to him.

Which of the following options will fill the given blank correctly?

oy & T & W1 F Udhe BT Ted 5 FUY 20 T 3R ey & a1 F U &1 T 6 IUA 85 U g1 fe g 22 Fd &R 49 & Udbe
WRIEAT 8 3R 500 ¥UU GHMER $I &dl §, dl gHMFER I° I Sl B

fFrofafed & ¥ oH-31 fae fau U Rea =iF 1 981 & 9 gfd dvm?

405 Rupees 50 Paisa

A

405 ¥03 50 T

345 Rupees 5 Paisa
B

345 ¥93 5 09

105 Rupees 5 Paisa
c

105 ¥73 5 44

94 Rupees 50 Paisa
D

94 ¥ 50 99

Correct Ans : D

Subject : MATH

Q.No: 31 The relationship between Mathematics in the Society is all the following except
2703442

A | 1o ¥ s g9y, Fofafed & sifafed @b €

Mathematics hampers the functioning of society.

T WA & BTH-BTS | 91YT STerar gl


https://applink.adda247.com/d/XhqWf9lSap

Adda‘aq 7 GET IT ON

Google Play

Mathematics plays an important role to organize and maintain the structure of our society.

B

TR TS B UL ) TAFRG 3R F91E w@ F R 10 T Hewaqul YT Frvma 21

Mathematics enables us to understand the inter-relations of individuals in a society.
Cc

T gH TS § Safeaal & siqefae Y IHS #® & S g

Mathematics helps society to balance and counterbalance the various social forces.
D

Tfora TuTe Y fafir g Tal &) e 8k uferigiea #e7 # #eg Har 81
Correct Ans : A

Subject : MATH

Q.No: 32 A 20 years old person weighs 42Kg and a 50 years old person weighs 64Kg. If weight of 40 years old person is the
2703443 (jfference between the weight of 50 years old person and thrice the weight of 20 years old person, then the difference
between the weight of 20 years old and that of 40 years old will be grams.

20 aftfg =afaq &1 9o 42 3 3R 50 3T afaa &1 a9 64 fBam §1 afe 40 aftfg =afdqd &1 oM, 50 aftfg afdd & oo 3R 20 affg
e & o & 19 T F &9 &1 3R &, O 20 Iy s & goF R 40 a7 FfFT & aoF & ol F BT 3R | BRI

40000

40000

30000

30000
20000

20000

10000

10000
Correct Ans : C

Subject : MATH

Q.No: 33 A whole seller sells set of 20 sweaters for Rs. 7980, while the retailer sells only 5 sweaters for the same amount. If the
2703444 (atailer and whole seller both sell 12 sweaters each to a customer, then the retailer earns more than the whole seller.

TP Ui faehdT 20 Wex &1 I 7980 IUT T Sl 8, STalfcs GexT fashal IH 4RI & Fadt 5 Wex oad gl
I Qe fagsar ofR Ui fadhdT G, T T8 &I 12-12 WeR 99d §, a1 e fashar i fashar 9 31/ BT B

A Rs. 23940


https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

Google Play

23,940 3UY
Rs. 14364

14,364 393
Rs. 4788

4788 U
Rs. 19152

19,152 30
Correct Ans : B

Subject : MATH

Q.No: 34 T . N 3z . L BBy
2703445 What can be multiplied to the sum of fractions - and - obtain the fraction 7
‘Fﬂﬁri: e F4 & ToT, et '&:zﬂ?ﬂmg 3#1?% T Tehry 30T R AT el 87
3
17
A
3
17
20
3
B
20
3
18
5
C
18
5
15
4
D
15

Correct Ans : D
Subject : MATH

Q.No: 35 Age limits and vaccine slot availability are given in the table below:
2703446
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AGE SLOTS AVAILABLE
18 - 44 3846500
45-100 | 49386000

GET IT ON
Google Play

If both the age limit slots keep on decreasing by 10% everyday, then total sum of slots left for age 18-100 after 2 days are

Fr <t 1S et B org A 3R IRl T Wie 3 Iudsar gl TS |

g IUoTee] Telle
18-44 | 3846500
45100 | 4986000

gfe 3 = 3y T o wWite & ufafeT 10% &t i g @<t 8, @ 2 e F w1 18-
100 9¥ Bt 1Y & foTT S U Wilc BT Ha T fova1 grmm?

4019431
A

4019431

3547540
B

3547540

7154325
C

7154325

5014741
D

5014741

Correct Ans : C

Subject : MATH

Q.No: 36 A cylindrical treasure box has been closed with a hemispherical cap at the top. If radius of the base of treasure box is 0.3 m

2703449 zpg height of the cylinder is 1m, then the total volume of the box is

T SeFTHR SR sfeg 2 W Ue ardiiamer ad § s 21
g oot ST & SmyR &t Brsar 0.3 MeR 3R 39 &) Sars 1 WeR 8, O e &1 $d maa |

0.018 mm?
A
0.018 7 Hew
0.108  m?
B
0.108 = Hrex:

c 0.810 7T m?
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0.810 n #Hre

0.801 & m?

0.801 & HEL

Correct Ans : B

Subject : MATH

Q.No: 37 What can be added to the sum of 4660, 4046, 6640, 6046 and 6404 to get 31802?
2703450

31802 U B3 & foIT 4660, 4046, 6640, 6046 3R 6404 S TN H T Wil o Jbdl &2

6040 - 1440
A

6040 - 1440

4406 + 0010
B

4406 + 0010

4040 - 0034
C

4040 - 0034

1040 + 3406
D

1040 + 3406

Correct Ans : C
Subject : MATH

Q.No: 38 9 6
2703451 Simplify: (1—1) +{ 2+ Z—UJ

+
{E‘I'r:l

(3]+ (2+T‘5}J)mﬁﬁm

11 + 2+6
1
A
1
5
B
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2/11
C

2/11

1/11
D

1/11

Correct Ans : B

Subject : MATH

Q.No: 39 Calculate the sum of all the digits which are even numbers (repeating digits must be considered only once) in the number
2703464 733934754.

T=T 788934754 T 3 Tt Sichl & ANTHE I TUFT HIOTT S TH TREATT § (TRIGAD 3! HI Had U aR HHT ST A1) |

15
A

15

12
B

12

14
C

14

13
D

13

Correct Ans : B

Subject : MATH

Q.No: 40 Weight of a football player before lockdown was 67Kg. His weight increased by 15Kg during lockdown and then he lost one
2703465 foyrth of his total weight by exercise What is his final weight?

BT A Ugd U Geard [are! &l aoH 67 fHamy ol aleers & SR 3ud! go 15 fFam ag T 3R fiiR 39 o= $d aor
BT T AUTS Io A & gRIT B fobar, df 3T ifad aoi e g2

42 Kg 300 g
A
42 fpaum™ 300 I
50 Kg 400 g
B
50 fFau™ 400 U

C 24 Kg 600g
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24 fHau 600 M9

61 Kg 500 g

61 f»au™w 500 I

Correct Ans : D

Subject : MATH

Q.No: 41 A mathematics question paper has 50 questions. If 20 questions consume 2 minutes 30 seconds each and the rest take 1
2703466 minute 30 seconds each, then total time of the paper is estimated to be

T & T 9% U § 50 UY 21 IS AP 20 UM P 5 B A 2 fFe 30 ABUS &1 Y o1l § 3R Udd AN Ul &l g Hea H 1 e
30 YHS 1 THY AT 8, A Y UF &1 Hof AT TH fob= 82

57 minutes

A

57 fire

84 minutes
B

84 fire

38 minutes
C

38 fiFe

95 minutes
D

95 fiFe

Correct Ans : D
Subject : MATH

Q.No: 42 Price of different items in a shop is given below.

2703467
Item Quantity | Price (in rupees)
Book 10 250
Bag § 2800
Lunch box 32 1280
Bottle 12 1020
Pen 20 100

Pritam buys 3 books, 4 lunch boxes, 5 pens, 1 bottle and 1 bag and gives total worth of Rs. 1000 notes to the shopkeeper.
How much amount will the shopkeeper return to him?

T oM B Al aegall B B A & R
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T5q | A FET | @FEH)
TETT 10 850
8 2800
e 32 1280
12 1020
J— 20 100

Had 3 Gk, 4 @9 §iad, 5 Had, 1 Sdd 3R 1 97 Wl § 3R gHMER & o 1000 IUY B 1A a1d A aTl g1
dl, gPMeR 39 fha-! 4=RIRT aTog HXM?

Rs. 225
A

225 ¥qd

Rs. 175
B

175 30

Rs. 200
C

200 ¥9d

Rs. 125
D

125 3@

Correct Ans : D

Subject : MATH

Q.No: 43 Construct a number whose digits at thousandth, hundredth, tens and ones place are 2n ,n, (n-1) and (n-2) respectively.
2703477 Here, n is an even number and number at ones place is three less than the second smallest odd prime number.

T T P} T B 1T G 3ich IR, Y eT, G8TS IR IBT8 & VI W HH: 2n,n, (n-1) 3R (n-2) 8l Tel, n T J9 T2 § 3R
THTE & VM W WA GO T BIT favm Siurey e ¥ i &9 31

8432
A

8432

12842
B

12842

8963
C

8963

8342
D

8342

Correct Ans : A
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Q.No: 44
2703478

247 sy

MATH

The product of n and n?is 64 and the same result is obtained when

(4n)is divided by m. Then. L :2]
v

is equal to

n 3R n2 &1 IOEFS 64 § 3R ITF () FF m F Fafera Brar smare.
ﬁwmwmﬁla’r{n +2m}ﬁmﬂ:w%ﬂ

2

Correct Ans : B

Subject : MATH

Q.No: 45
2703479

A thread is tied around a cvlindrical vessel in five rounds such that after the last round. the both ends

of the thread meet. Considering the diameter of cylinder to be 4cm. the total length of thread wrapped
is__ mm

Teh SR ddel & IR 3T Tk 97E) &) 9 Y & 5§ YR &9rel SA1aT ¢ 6 3ifa# 9 & a1g
oI & Sl Y 30w A FAT 81 9o & o 1 4 AT Al §U. a0 0 €61 hl el s
aH e Bl

0.8

0.8

0.4

0.4

0.2
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0.2
20

20
Correct Ans : C

Subject : MATH

Q.No: 46 Weight of a bag having some items in it is 70Kg. If the bag owner bought some rice for a total of Rs. 300 at Rs. 60/Kg and
2703480 the bag also has some dairy products weighing 23Kg worth Rs. 500 and a few more items in it, then find the weight of bag
unoccupied by dairy products and rice.

F© aegall I ST HT g9 70 5 g1 afe S & mfere 7 60 U/ B @R F FA 300 IU H $F AGA WG 3R ST H 23 faur ao
F $o W 3TE it §, oFwT e 500 FUT § 3R T3 R axqy ff 8, df ST IaTet SR Frad & 991 9 H7 a9 1 i

24 kg
A

24 fEm

75 kg
B

75

42 kg
C

42 feu

60 kg
D

60 foam

Correct Ans : C
Subject : MATH

Q.No: 47 Time given to complete an assignment was 2 days. On submitting late by one hour, student gets one day suspension and 2
2703481 marks deduction. If 2 students submit their assignments 13 hours and 8 hours late respectively, then combined sum of
marks deducted is equal to __?

TS S B R HA & o 2 e &1 g9g foar T o1l o ge 3t S F S 7 Hram R et &1 ue 37 & o fafad o o g ek
2 3! P FHerdt I ot g1 afe & fFemdf w13 62 3R 8 He 3t <& F o S W FHRa1 d §, A BT T bt BT Wgad ATHS
F TR g

42

42
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31

71
C

71

81
D

81

Correct Ans : A
Subject : MATH

(22'7'\& 1‘:588 The perimeter of a rectangular table is 48 cm. If the area of the rectangular table is 128 cm?,
then what will be the length of the table?
T AIHR ead BT URATT 48 I &1 Tl 3IAIBR 2ad &1 a=thel 128 a7 I §, o a9 ! s T gt ?
10 cm
A
10 4+t
18 cm
B
18 4+t
16 cm
c
16 4t
12 cm
D
12 4+t

Correct Ans : C
Subject : MATH

Q.No: 49 The length of a rectangular board is 5 times that of its breadth. If the area of the board is 125 square meters, what is its
2704169 length?

X

ox

Th HTAHR SIS $I daT8, IYB! AT BI 5 A g1 IS SIS BT 8Ahd 125 a7f Hiex §, & ISP daTs fha-l 82
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S5x

8 Hiex

16 m

16 Hiex

24 m

24 Hie?

25 m

25 Hier

Correct Ans : D

Subject : MATH

Q.No: 50

5704170 The diagonal of a rectangular field is 15 m and its area is 108 m%. What is the cost of fencing the

field at rupees 50.50 per m?

TP AR HeM &1 [Jbuf 15 Hiex § 3R 391 &7%hd 108 I7f Hiex §1 50.50 300 Ul Hiex &) X ¥ Td H 915 TFIH B! AN 1 82

Rs.2121
A

2121 F0

Rs.2020
B

2020 ¥

Rs.1919
C

1919 ¥9Q

Rs.2222
D

2222 ¥

Correct Ans : A

Subject : MATH
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(22'7'\:;: 15711 The length and breadth of a rectangular field is in the ratio of 3:2. If the area of the field is 1350 m?,
then the cost of fencing it at Rs. 30/m will be:

TP AHAHR AEH B T8 AR ANSTs 3:2 F U H g1 afe A &1 8% 1350 ¥ Hiex §, df 30 T ufd Hiex &) R | 9@t 918
T Bt AFTd grf

Rs. 5680

5680 TUY
Rs. 4500

4500 394
Rs. 4000

4000 394

Rs. 5240

5240 U4
Correct Ans : B

Subject : MATH

Q.No: 52 In the given figure, AOBCA represents a quadrant of a circle of radius 8 cm with center O. What is the area of the shaded
2704178 partr

B

C————D

12 cm

3 anpfa A, AOBCA &% 0 & Iy F3a1 8 ¥t & U qa & Iquier &1 ufafAfera &var 81 SRifda UM &1 &thd T 82

8.65 cm?


https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

Google Play

8.65 T2
42.24 ecm?

42.24 grit2

6.45 em?

6.45 iz

8 cm?

8 urfi?

Correct Ans : B

Subject : MATH

Q.No: 53 The base of a solid right prism is a triangle whose sides are 9 cm, 12 cm and 15 cm. The height of the prism is 5 cm. What
2704179 s the total surface area (in square cm) of the prism?

% 3N T e 71 SyR Ue Fys 8§ et yod 9 Ift, 12 It oiR 15 It €1 e &t Sars 5 It 31 i &1 g g amwea (ot
It #) fpam 82

186

186
182

182
288

288
276

276
Correct Ans : C
Subject : MATH

Q.No: 54 If the sum of the edges of a cube is 60 cm, then what will be the volume (in cubic cm) of the cube?
2704180

TS T & BRI &1 17 60 I § @ I BT 3mua (o I H) |1 g ?
A 125
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125

264

264
126

126
56

56
Correct Ans : A
Subject : MATH

Q.No: 55 If the sum of the edges of a cube is 48 cm, then what will be the volume (in cubic cm) of the cube?
2704181

TS T & BRI &1 17 48 It © T U9 &7 3mua (o I H) |1 81w ?

125
A

125

81
B

81

225
C

225

64
D

64

Correct Ans : D

Subject : MATH

Q.No: 56 The radius of the base and height of a cylinder is 14 cm and 5 cm respectively. What will be the curved surface area of the
2704182 (yjinder?

TH I & MYR B B35 iR Sars o= 14 Yt 3R 5 It B 1 977 71 a9 YT &A% 1 gImT?

A 450 cm?
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450 T

440 em?

440 Tl

650 cm?

650 T

2345 em?

2345 Tt

Correct Ans : B

Subject : MATH

(22'7'\(‘;215873 The ratio of height and radius of a cylinder is 3:2. If the volume of the cylinder 1s 120007, then

what 1s the radius of the cylinder?

U o $I &g 3R U &1 31U 3:2 2 9fE o o1 31869 12000 1 2, a1 a0 31 B
w8

30 cm

30 9+t

21 cm

21 9+t

10 cm

10 9t
20 cm

20 9+t

Correct Ans : D

Subject : MATH

Q.No: 58 The circumference of a circle and the perimeter of a rectangle is equal. The sides of the rectangle are 35 cm and 42 cm.
2704194 \hat is the area of the circle (in square cm)?
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TP g B URTY 3R T 3mad BT URATY sR1eR 31 3Mad St YSIE 35 It 3R 42 It §1 90 &1 &aha (arf et &) 1 82

1,886.5
A
1,886.5
456.5
B
456.5
676.8
C
676.8
698.5
D
698.5

Correct Ans : A

Subject : MATH

Q.No: 59 There is a rectangular plain of 20 m in length and 40 m in width, in the middle of the parallel field there is a 2m wide road,

2704195 then the area of the road is:

20 Hiex g 3R 40 Hiex WSS BT Th ATABR AeH 8, FAMMR HeH & Heg § 2 Hiex At oo 8, dl TS BT ahd 1d BIoR?

2

116 m?
A

116 m?

140 m?
B

140 m?

c 300 m?

20
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300 m?

280 m?

280 m?

Correct Ans : A

Subject : MATH

Q.No: 60 A wire is bent in the form of a square and encloses an area of 576 sq.cm. What will be the enclosed area when the same
2704196 \jre is bent into the form of a circle?

TP dR &I Th I & U & 7SI 71 ¢ S 576 o I &% &I Ol §1 5IF I IR &I U gd & T | AT 1T § af uRag &ha F
g?

510.56 cm?

510.56 em?

733.09 cm?

733.09 cm?

125.56 cm?

125.56 em?

340.65 cm?

340.65 cm?

Correct Ans : B

Subject : MATH

Q.No: 61

2704197 Lhe difference between the areas of two squares drawn on two-line segments of different lengths is

40 em?. What is the length of the greater line segment if one is longer than the other by 2 em?

fafirs dams & ol Yargsl W @id T &l a7l & &Ahal & 3fax 40 TR g1 A te g ¥ 2
Uit fie ciar @ ot 92 YE1 W @l ddls ol 87

A 6 cm
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6 I+

11 cm

11 I+

9cm

Correct Ans : B

Subject : MATH

(22'7'\3216928 A square garden has two roads passing through its middle, both parallel to its sides. Each side of

the square 1s 60 m in length and the width of the roads is 10 m. What 1s the cost of grassing the
garden at the rate of Rs.30 per m??

G0

& iR i & <) 98 39P AL § §ibR Tordl 8, Al 59 PRI b GHFIR 1 a7l Bt Ydeh Yil I ofdls 60 HieR B 3R TS bl
drers 10 MWeR 71 30 I9T Ufd o er &t &R | i & o9 TH &1 anTd 41 82

G0

Rs. 500

500 ¥

Rs. 60000

60000 ¥4I

Rs. 67800

67800 ¥4I

Rs. 75000
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75000 ¥=Ud

Correct Ans : D

Subject : MATH

Q.No: 63 How many pair(s) of x and y satisfy the equations 4x + 6y = 16 and 6x + 9y = 24?

2716763
x 3R y & = W 4x + 6y = 16 TUT 6x + 9y = 24 P! UJY Hd 872
0
A
0
1
B
1
Ca
C
co
2
D
2

Correct Ans : C

Subject : MATH

Q.No: 64 How many pairs of x and y satisfy the equations 6x + 5y = 16 and 8x + 7y = 22?
2716764

x 3R y & = W 6x + 5y = 16 TUT 8x + 7y = 22 Pl UgP HRd 87

0
A

0

1
B

1

(<]
C

(-]

3
D

3

Correct Ans : B
Subject : MATH
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Q.No: 65 Three chocolates, Four biscuits and five cakes cost Rs. 34. Six chocolates and eight biscuits cost Rs. 38. Find the cost of
2716765 gach cake (in Rs.)

fF Fidde, IR fRge IR UM & &I HIAd 34 3. §! T8 dIdac IR 33 fRge & F1Ad 38 F. §! IS &b &1 4 (3. W) Id Fiforg|

6
A

6

5
B

5

4
c

4

3
D

3

Correct Ans : D

Subject : MATH

Q.No: 66 Solve the following equations for x.

2716767
6x - 27 +3x=4+9-x
x & T 8 R
6x - 27 +3x=4+9-x
4
A
4
5
B
5
6
C
6
-4
D
-4

Correct Ans : A

Subject : MATH
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No: 67 19 i
(2271%759 If 7x + 2y = 10 and 2x + 5y =—, then find x and y.
19
AR Tx+2y=10 AR 2x+5y=_- g & x AR y A AfSrw)
i
2
A
e
2
g
2' 2
B
ey
2' 2
1
2
Cc
5
i
2
1
o
4
D
1
=
4

Correct Ans : A

Subject : MATH

Q.No: 68 Solve the following equations for x.

2716770
a(x+y)-cz=a(-x+y+2)
x & oW g B
a(x+y)-cz=a(-x+y+2)
z{a +c)

2a

A

z{a +c)

2a
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z{a +c)
2c

z(a + c)

yla+c)
2a

yla+c)
2a

z(a +y)
2c

z(a +y)
2c

Correct Ans : A

Subject : MATH

2'7'\‘1‘;76791 If A6 _2ma9o o
10x -6 5x+5
o5~ pu g T HI
2
A
2
3
B
3
4
C
4
1
D
1

Correct Ans : B

Subject : MATH
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Q.No: 70 The cost of one pen and two books together is Rs. 70. The cost of three pens and nine books together is Rs. 300. Find the
2716772 (ifference between the cost of a book and a pen.

% FHa9 3R &1 JHS! B U 9 T 70 F. 71 dF Fad! 3R -l Q! &1 U 1Y T 300 ¥. 81 T fFdd 3R U6 dad & gd & s
1 3R 1 BIY |

Rs. 30

30 7.
Rs. 20

20 >.
Rs. 10

10%.

Rs. 5

5%.
Correct Ans : B

Subject : MATH

Q.No: 71 The sum of the digits of a two-digit number is 4 more than the excess of the units digit over the ten’s digit. If the product of
2716784 the digits is 16, find the number.

3 3T Bt TP TN & 3Ah] BT AT T B 3(ch b IBI8 b b ATIR T 4 3Aeeb T TG 3fhT BT [UHKGS 16 7, dl W= I1d DI

82
A

82

28
B

28

a4
C

a4

32
D

32

Correct Ans : B

Subject : MATH
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Q.No: 72 P, Q and R are integers satisfying the equations P + Q = 12, Q + R = 18 and P + R = 24. Find their product.
2716785

P, Q3R R, GHIGRUIP + Q = 12, Q + R = 18 3R P + R = 24 &I UqP & 1A YuIfeh &1 ST UK Jd HIoTg|

567
A

567

405
B

405

243
C

243

390
D

390

Correct Ans : B
Subject : MATH

Q.No: 73 The number of solutions of the system of linear equations 5x + 7y = 3 and 15x + 21y = 24 is
2716786

G AR 5x + 7y = 3 3R 15x + 21y = 24 & o & 5l & @ &

0
A

0

1
B

1

2
C

2

oo
D

oo

Correct Ans : A

Subject : MATH

Q.No: 74

2716787 i aand x are real numbers satisfying a*~ 1 =alx+1 find x (a>1)
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afe; a 3R x area o FEa? € S ax-! = aX~ | Y g S & O x A1 HfFT) (2>1)

1
A

1

2
B

2

-1
C

-1

-2
D

-2

Correct Ans : D
Subject : MATH

Q.No: 75 6 years ago, mother’s age was 18 years more than the son’s age. If the sum of their present ages is 30, what was the age
2716791 f the mother 6 years back?

6 a¥ Ud AT ST 31 GF SI 31 F 18 Y 31f¥e ft| Afe 37! acu o1g &1 AT 30 ©, o 6 I gd Tra i g R 22

32 years
A

3299

36 years
B

36 99

30 years
c

30 99

18 years
D

18 af

Correct Ans : D

Subject : MATH

Q.No: 76 The difference between the present ages of Arun and Deepak is 14 years. Seven years ago the ratio of their ages was 5 : 7
2716793 respectively. What is Deepak’s present age?

30T 3R U Bt Tl AR BT SR 14 T g1 I1d a9 Gd I SfUTd HH: 5 : 7 UT| EUH BT IAAM g FT 82

A 49 years.
49 g
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B 42 years.
42 g

C 63 years.
63 i

D 56 years.
56 9%

Correct Ans : D

Subject : MATH

Q.No: 77 A sum of Rs.312 was divided among 100 boys and girls in such a way that each boy gets Rs. 3.60 and each girl Rs.2.40.
2716795 The number of girls is?
100 I85! 3R Tsfhdl & d 312 I ) AR 38 aRE A UG 31 72 & b Ude ds® B! 3.60 I 3R UAS ASH! B 2.40 U
fiyad € | Tefpal &t g 82

-
TR
C &
° e

Correct Ans : B

Subject : MATH

Q.No: 78 Five years ago the age of father was 5 times the age of his son.

2716801
Presently the age of father is 3 times the age of his son. Find the present age of son.
Uid 9Ie U fUdl 1 39 39 o B1 39 Bt 5 A1 2
A A fdr Bt IY 3% o B IY B 3 T 81 9 DI adHH IH F1d HifoTd |
10
A 10
16
B 16
12
¢ 12
18
D 18

Correct Ans : A

Subject : MATH

Q.No: 79 A cab charges Rs.25 for first kilometer and Rs.8 each for every subsequent kilometer. For a distance of x km, a amount of
2716802 Rs. y is paid. The linear equation for this information is:
T $9 Ugd fbaier & T 25 30 3R Ul MM fbaiier & R 8 U3 &1 Yoob a1 21 x bt Bl g & R, y T Bt Ay b1
YA T ST 81 39 TSR & foe e aefievor §:

A y=8x+17
y=8x+ 17
B y =5x+ 15
y=5x+ 15
C y=8x+ 25
y=8x+ 25
D y=5x+9

y=5x+9
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Correct Ans : A
Subject : MATH

Q.No: 80 Total cost of 7 pens and 4 books is Rs 232 and that of 4 pens and 7 books is Rs 241. Find the cost of one book.
2716807 7 Hadl 3R 4 fFHarel &1 $d AR 232 F. § TUT 4 HAA! R 7 Bl H71 A 241 3. B T fHaE &1 9 I1d B

.o
o
.o
o P

Correct Ans : D

Subject : MATH

Q.No: 81 The value of k for which the system of equation kx+2y =5, 3x+y =1 has no solution, is:
2716808 3x +y = 1 JHIGRU kx + 2y = 5 &I s 8 el & dl k BT AF &-

5
A 5
2
3
B
2
3
6
c 6
3
2
D
3
2

Correct Ans : C

Subject : MATH

Q.No: 82 Mohan gets 3 marks for each correct sum and loses 2 marks for each wrong sum. He attempts 30 sum and obtains 40
2716809 marks. The number of sum solved correctly is:
Higd &I UAS Tt 9aTd & 3 3 3R TTed qaTd & 2 3 e 8 98 30 TaId Bl § <O 40 3 U Hl § O Tl Faral bt W &
LIS
10
10

15
15

20
20

25
25

C

D

Correct Ans : C

Subject : MATH
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Q.No: 83 The solution of the equation 3(3x - 4) - 2(4x - 5) = 8 is:
2716810

T, 3(3x - 4) - 2(4x - 5) = 8 B & &:-

6
A 6
B 7
7
8
c 8
10
P 10

Correct Ans : D

Subject : MATH

Q.No: 84 The sum of the digits of a two-digit number is 54 less than the number. What is the difference between the digits of that
2716811 number?

3l 3T aTell T/ P 3! BT AN TSI ¥ 54 HH §, o 3T I & 3T BT 3R ©-

2
A 2
6
B 6
C Data inadequate
STeT Juafw
9
D 9

Correct Ans : C

Subject : MATH

Q.No: 85 Find the number which when multiplied by 13 is increased by 180 :
2716812 dg WA I1d SITo T 13 F 7O F’A W 180 ¥ §¢ el g

A
B 1
c 5
o

Correct Ans : B

Subject : MATH

Q.No: 86 The ratio between the present ages of Ram and Alok is 6:7. If Alok is 4 years old than Ram, what will be the ratio of the
2716817 zges of Ram and Alok after 4 years?

I AR MENF BT IIA 31 HT U 6: 7 1 Al e YA ¥ 4 ¢ T71 8, ol I 3R S B G FT 4 I & §1G BT U
g

A 5:6
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5:6
5:8

5:8

7:8

7:8
6:8

6:8
Correct Ans : C

Subject : MATH

Q.No: 87 Zeroes of a polynomial can be expressed graphically. Number of zeroes of polynomial is equal to number of points where the
2718948 graph of polynomial is:

% TgUS & IS Bl XQIH gRT Fad [T S bl ¢ | TgUS & JAD! &1 I I figsit &1 T & SRIaR gl § oI8! IgUS 1 UTh:

Intersects x-axis

A

x-31&f P Blear §

Intersects y-axis
B

y-31&f &) Predl g

Intersects y-axis or x-axis
C

y-31&f T x-31&f B HIeal §

None of the given options
D

fou v el # | FIS 78
Correct Ans : A
Subject : MATH

Q.No: 88 A polynomial of degree n has:
2718949

91d n & gug H:

Only one zeroes

¥9d TP YAP (zeroes) BT &
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At least n zeroes

B
%9 A S n YIS (zeroes) BT &
More than n zeroes

C
n ¥ 3P AP (zeroes) BT &
At most n zeroes

D

fPaH n TP (zeroes) BT 2

Correct Ans : D

Subject : MATH

Q.No: 89 The number of polynomials having zeroes as -2 and 5 is:

2718950
-2 3R 5 % w0 H YIb! I TgUC! Bl WA &:
1
A
1
2
B
2
3
C
3
More than 3
D
3 9 ft®

Correct Ans : D

Subject : MATH

(22'7'\11(;99501 Zeroes of p(x) = x*- 125 are:

p(x) = x2- 125 & YT ¢
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+5y/3
B

+5v3

+3v/3
c

+3v/3

None of the given options
D

fau v fawet & A P AE
Correct Ans : B

Subject : MATH

Q.No: 91 The degree of the constant polynomial is:
2718972

fRR{® §gUE (constant polynomial) &1 OTd §:

0
A

0

1
B

1

2
C

2

3
D

3

Correct Ans : A

Subject : MATH

Q.No: 92 . i ) 5 .
2718973 One of the linear factors of 3x= + 10x + 8 1s:

3x% + 10x + 8 P AP UGS H Y U 5

A (x+1)
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(x+1)

(x-2)

(x-2)

(x+2)

(x+2)
(x-3)

(x-3)
Correct Ans : C

Subject : MATH

Q.No: 93 . . 5 i .
2718974 The coefficient of x 0 10x“+15x-11 1s:

10x2+15x-11 H x T 70N :

9

10

10

15

15
11

11
Correct Ans : B

Subject : MATH

Q.No: 94 Which of the following is an example of the quadratic polynomial?
2718975

frofafed & 9 o1 feura sgug o1 Sae 82

9x +4
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9x +4

3x% +x -1
B

3x% +x-1

x+4x3-9
c

x+4x3-9

None of the given options
D

fou v fawet A @ IS T8
Correct Ans : B
Subject : MATH

Q.No: 95 Find the value of (ax +by) - 6ax + 11by.

2718976

(ax +by) - 6ax + 11by &1 M I HifoW|

5ax + 12by
A

5ax + 12by

5ax - 12by
B

5ax - 12by

-5ax + 12by
C

-5ax + 12by

-5ax - 12by
D

-5ax - 12by

Correct Ans : C
Subject : MATH

(22-7'\‘1%99767 If x* + px + 12 = (x+3)(x+4) for all p, then find the value of p+1.

e x2+ px + 12 = (x+3)(x+4) G4l p & [T, A p+1 1 HE J1d DI

A 5

GET IT ON
Google Play
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8
Correct Ans : D

Subject : MATH

Q.No: 97 : . . _
3718978 What 1s the zeros of the polynomial p(y) = ey+d?

dgUS p(y) = cy+d DI YU T 82

-C

A
-c
-d
B
-d
-d/c
C
-d/c
d/c
D
d/c

Correct Ans : C

Subject : MATH

.No: 98 . . . .
371(;002 If one root of the quadratic polynomial x* + 11x + k is 5, then the value of k is:

e R T8IE 2 + 11x + k BIUH G5 ¢, Al k PITAM B

A 30
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30
35

35

25

25

24

24
Correct Ans : A

Subject : MATH

Q.No: 99 A quadratic polynomial, whose zeroes are -3 and 8, is:
2719003

& feemd sgue, foa® 3@ -3 3R 8 &, &:

x*—5x - 24
A
X% —5x-24
x2—5x+ 24
B
x2—5x+ 24
(5)-6)-2
C
(3)- ()24
%2 +5x + 24
D

®*2 4+ 5x + 24

Correct Ans : A
Subject : MATH

Q.No: 100 . . 2 ]
2719004 The zeroes of the gquadratic polynomial x* + 26x + 118 are:

GET IT ON
Google Play
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TG UG x2 + 26x + 118 & LIS o

both positive

ST eFTHS

both negative

FRIEAYIG:ED

one positive and one negative

TP YIS 3R TP BUTHS

both equal

RIS
Correct Ans : B

Subject : MATH

2'7'\11(;0%051 The zeroes of the quadratic polynomial x* + 9x + 18 are:
fEHTd 9808 »2 + 9x + 18 & YD o
-4,-5
A
-4, -5
4,5
B
4,5
-3, -6
C
-3, -6
-3,6
D
-3,6

Correct Ans : C

Subject : MATH

Q.No: 102 If the discriminant of a quadratic polynomial, D = 0, then the polynomial has:
2719006
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Ife we fEurd sgue @1 fifdadedy (discriminant), D = 0, A SgUE § &

two real and equal roots

A
3 arafa® 3R JuH ga
two real and unequal roots
B
& IRATIF SR A &
imaginary roots
C
HTUS T
no roots
D
PIE 7 TE

Correct Ans : A

Subject : MATH

Q.No: 103 1If the discriminant of a quadratic polynomial, D < 0, then the polynomial has:

2719007
e ue fgurd sgug &1 fafdada (discriminant), D < 0, A 9gUe & §
two real and equal roots
A
3 grafa® 3R JuH ga
two real and unequal roots
B
3 arafa® 3R SRTHE &
imaginary roots
C
HTEUS T
no roots
D
IS 4 Tl

Correct Ans : C

Subject : MATH

Q.No: 104

: : 3 2 .
2719008 The product of the zeroes of the cubic polynomial py” + gy + ry + s is:

19T 98T py? + qy? + ry + s B D! BT UEG o

A -q/p
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-q/p

r/p

r/p
-s/p

-s/p
-r/p

-r/p
Correct Ans : C

Subject : MATH

Q.No: 105 Which of the following is a constant polynomial?

2719030
fafafad & 3 o a1 1o RR 9gue 82
3x+9

A
3x+9
12

B
12
4x?

C
4x?
6x+3

D
6x+3

Correct Ans : B

Subject : MATH

Q.No: 106 Which of the following is not a constant polynomial?
2719031

frofifed # 9 o1 e fRR gug 78 32
A V121
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8
B
8
92
C
92
6x+11
D
6x+11

Correct Ans : D
Subject : MATH

3'7'\11%01:,,0; Which of the following is the numerical coefficient of p!iq!1?

frafetfiad 5 @ =i @1 pliql! 7 GEArHe i 87

0
A
0
1
B
1
11
p
C
11
p
11
q
D
11
q

Correct Ans : B

Subject : MATH

S %osy Which of the following is the numerical coefficient of -72xy?
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frrafetfige = @ shi-ar - 72 xy 1 ST Ui 87

7
A

7

-xy
B

-xy

-49
C

-49

49
D

a9

Correct Ans : C

Subject : MATH

Q.No: 109 pgr + xyz is what type of polynomial?
2719034

par + xyz f&d UHR &1 9gUe 82

Monomial
A

TP

Binomial
B

fgug

Trimonial
C

fug

None of the given options
D

ot e fawen & | HIF L
Correct Ans : A
Subject : MATH

Q.No: 110 The area of a trapezium is T times of the area of a circle whose radius is 140 cm. The height of the trapezium is 154 cm and
2719186 gym of parallel sides of the trapezium is 320 cm, then what is the value of T?
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TS TGS Bt Ha1s 154 I § 3R JHCS TGS B THMR YSIST &1 THd 320 4t 8, A T &1 A &1 82

0.2
A

0.2

0.3
B

0.3

0.4
C

0.4

0.5
D

0.5

Correct Ans : C

Subject : MATH

Q.No: 111 There is a APQR in which #P+ 2Q = 145% and R + 22Q = 180°. What relation
2719201  (y|d satisfy the given conditions?

I: PR = PQ
II: PR > PQ
III: PR < PQ

IV: PR = QR

U APQR . A P+Q = 145° R LR +22.Q = 180° B | FIA-AT Haer &1
1% 21T &1 G &3 FehelT 67

I: PR = PQ

II: PR > PQ

III: PR < PQ

IV: PR = QR

Only III

Had II1

Only II

ad 11

I, III and IV

I, III 3R IV
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II and IV

II 3R IV
Correct Ans : D
Subject : MATH

Q.No: 112 Ratio of volumes of two cones is 3: 2 and ratio of radii of their bases is 1: 3. Find the ratio of their heights.
2719202

Gl Rl & ST BT UM 3 @ 2 § 3R Id YR B 3T HT 3T 1 :3 1 Y, I Sals BT U J1d Biforg|

3:2
A

3:2

9: 4
B

9: 4

27: 8
c

27: 8

27: 2
D

27: 2

Correct Ans : D

Subject : MATH

Q.No: 113 A rectangle is cut into 41 pieces of which 15 are small rectangles, 10 are squares and 16 are triangles. Given that area of 1
2719212 square = 1/2 * area of one small rectangle = 4 * area of one triangle. If side of square is 2.5cm, then area of the big
rectangle is .

TP AT B 41 THS! | el Sl g o F 15 B a8, 10 o7 8 3R 16 By §1 98 fear man 8 5 1 ol &1 oo = 1/2 * @&
B 3T T &G = 4 * TS YT 1 §3%a g1 afe avf Y yor 2.5 I g, A 9 M F71 &% gl

200 sqcm

200 T I

250 sqcm

250 T |+t
275 sqcm

275 oif I

D 300 sqcm
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300 o 9t

Correct Ans : C
Subject : MATH

Q.No: 114 (Chgose the correct option for A XYZ and A MNP.
2719213

AXYZ HRAMNP & ToIT 981 faseg &1 994 Hifaw

If MN = XY, NP=YZ and PM=ZX then AXZY = ANPM

A
Ife MN =XY. NP=YZ 3R PM=2ZX £ dl AXZY = ANPM
If ZX = PM, YX=NM and YZ=NP then AZXY 2 APMN

B
gf¢ ZX =PM, YX=NM 3 YZ=NP& @ AZXY = APMN
If YZ = NP. ZX=PM and XY=MN then AYZX 2 AMPN

C
e YZ=NP, ZX = PM H{ XY = MN &, dlAYZX 2 AMPN
All are correct

D

I aa g

Correct Ans : B
Subject : MATH

Q.No: 115 Find the difference between the sum of 2 exterior angles and the sum of 3 interior angles of a regular hexagon and choose
2719214 the correct option.

T THYCHS & 2 SiRHI0N & TNT 3R 3 3fA:HI0N & TN & oI BT 3faR F1d BIoTE 3R T [Ibe o1 T i |

Obtained angle is Obtuse angle

TS P10 3R BT §

Obtained angle is Acute angle

YT HYUT g HI0T §

C Obtained angle is Reflex angle
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UTe Pior yferadf wior &

Obtained angle is Right angle

YT BT HHPI0T &

Correct Ans : C

Subject : MATH

Q.No: 116 For a party, few balloons are filled up with air pump. A big size balloon is inflated with 8x times pumping, a medium size
2719215 pg)i00n is inflated with 5x times pumping and a small size balloon is inflated with 2x times pumping. Then find the value of
x if 1940 times pumping is required to fill 90 big, 30 medium, and 50 small balloons.

H Ul & Y, $© TR &) 97 UU F WRT 91T 81 U 9 SR & [IR B 8x IR URIAT §RT FARN I B, TP ALH SHTHR & TR
FI 5x TR URNT GRT AR ST § SR U BIRHTHR & TR Bl 2x IR URRT gRT Gorn S 81 3G 90 98, 30 Hed 3R 50 BT [RT
P 1R b T 1940 IR Uit Pt 3maxgmar §, @, x &1 AH T1d I

4
A

4

7
B

7

2
C

2

None of the given option
D

fou MU fawen A @ IS T8
Correct Ans : C
Subject : MATH

Q.No: 117 golve for the value of P:

2719216 & i i3 i h:
2(P2 — 2P)P = (3PP /T) + (P2WP)
P& AR & WU 2P — 2P)VVP = (3PVE /7)) + (PYVP) FI TRA HIAT |
7
A
7
6
B
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4
C

4

2
D

2

Correct Ans : A

Subject : MATH

Q.No: 118  There are three sizes of a circular hooplaring in the school sports store. Circumference of the smaller

2719222 e s 13.2 units and that ofthelarger one is 17.6 units. Alsothe circumference of middle one is sum
of half the circumference of smaller and that of larger ring. Find the sum of radii of all the rings.
(Take m =22/7)

Fol TAICH TR 3 o1 AR & el guen [T 61 ore Rar 61 aRkfe 132 38 & i as far
IO 17 6 SIS B | @1 &1 & aret TR o ST A ast RErdr gfifer & Aerar amn g
Atasit Rt &7 Bt &1 2w 7 g i 5w (n=22/7 76

4.30 units

4.30 SPTS

6.25 units

6.25 SOT

8.95 units

8.95 TFTS

7.35 units

7.35 S&Tg

Correct Ans : D

Subject : MATH

Q.No: 119 1f vglume of a spherical ball is 38808 cubic unit, then it's surface area is
2719223 approximately equal to N Take m=22/7})

ITE Ueh AT 918 T 3T 38808 BT SIS &, ol SETehl TSI &TAThel ofaTsel &
RE 82(w=22/7 o)

A 6742 sq. Units
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6742 T IPTS

1848 sq. Units
B

1848 T sHIS

5544 sq. Units
C

5544 91 3PTS

9261 sq. Units
D

9261 1 IHTS

Correct Ans : C

Subject : MATH

Q.No: 120 Choose the correct number that lie between both the intervals given:
2719224
6/5 to 19/3 and -25/6 to 18/7.

39 I} T=I1 1 99 HIE o AT 7T g Siavel & offe R o)

6/5d 19/3 3R -25/6 | 18/7

26/5
A

26/5

17/8
B

17/8

-29/7
C

-29/7

55/9
D

55/9

Correct Ans : B
Subject : MATH

Q.No: 121 Find the approximate value of |x]| in terms of n:
2719225

0.25x + 6.02n + (0.34n - 2.32x) = 0.62n - 6.23x — {4.20x + 2.56n - (5.87x - 9.23n)}
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n & o § |x| BT AT I F1d PR

0.25x + 6.02n + (0.34n - 2.32x) = 0.62n - 6.23x — {4.20x + 2.56n - (5.87x - 9.23n)}

3n/2
A
3n/2
7n
B
7n
2n
C
2n
7n/3
D
7n/3

Correct Ans : B

Subject : MATH

Q.No: 122 If x =2/9,y = 3/4,z = 4/nand 1/ (3xz + y - 2zy) = 12, then find the value of n.
2719226

g x = 2/9,y = 3/4,z = 4/n 3R 1/ (3xz + y - 2zy) = 12 §, A n &I HH I H?

7
A

7

5
B

5

9
C

9

2
D

2

Correct Ans : B

Subject : MATH

Q.No: 123 If componendo and dividendo of a proportion are 433/153 = 849/120 and 127/153 = 609/120 respectively, then find the
2719227 correct proportion.
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IS TP YAMUIT ST AN 3R SHRT JUTd HURE: 433/153 = 849/120 3R 127/153 = 609/120 8, df el U I1d Hiforg|
433:153 :: 849:120

A
433:153 :: 849:120
729:153 :: 280:120
B
729:153 :: 280:120
280:153 :: 729:120
C
280:153 :: 729:120
120:153 :: 729:280
D

120:153 :: 729:280
Correct Ans : C

Subject : MATH

Q.No: 124 In each of I, II, III and 1V, three sides of a triangle are given. Choose the INCORRECT option.
2719237

I) 0.248 cm, 0.00124 m, 0.0248 mm

II) 0.124 cm, 0.00124 m, 1.24 mm

III) 0.124 cm, 0.0124 m, 0.00124 mm

IV) 0.124 cm, 0.000124 m, 0.0248 mm

I, 11, I 3R IV & ¥ U@% § Us By &t o9 Yot &t 72 €1 Tad faded &1 997 S|
1) 0.248 J}, 0.00124 Hiex, 0.0248 e

II) 0.124 ¥4, 0.00124 Hier, 1.247H

I1I) 0.124 ¥, 0.0124 R, 0.00124 fordt

IV) 0.124 94, 0.000124 R, 0.0248 foft

I form a scalene triangle

I fawHaTg Ay ST 8

III and IV both form scalene triangles

III 3R IV 3 RvHag Ays 9 &

ITI and III both form equilateral triangles

II 3R 111 SH) JHeTg By s=rd @

D Only II form equilateral triangle
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Fad II FHaTg Y T rar &
Correct Ans : C

Subject : MATH

Q.No: 125 Length and breadth of a basketball court are 50m and 20m respectively. If the same court undergoes expansion of 10 m in
2719238 poth length and breadth every 4 years, then after 12 years, the area of court will be sg.m?

5 IRPeala I B AT 3R SIS HH: 50 Hiex 3R 20 WeR 31 S 3/ P H AP 4 I8 | TS 3R ST el J 10 Hiex o
AR, A 12 I F ag , HIE o1 &ahad ____ aif Hiex gNm?

72 % 107
A

72 % 107

28 x 107
B

28 % 107

40 = 102
c

40 % 107

18 x 107
D

18 x 107

Correct Ans : C

Subject : MATH

Q.No: 126 Some packages were given to two delivery agents in the ratio 9:14. When 6 packages were delivered by each of them, the
2719239 ggpective ratio became 7:12. Find the total number of packages given to them.

F3 Ubol, 3l fadRur Tole &1 9:14 & orgurd # U MU &) 519 390 ¥ UAF gRT 6 Yol faalkd fve e, O Teifra erguma 7:12 81 marl
3% fau TTu Aol & Ha WeAr [T IO

54

54
69

69
42

42
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23

Correct Ans : B

Subject : MATH

Q.No: 127 Tf eum of 23/2 and 18/31s'A". difference of 129/15 and 48/5 is 'B' and product of 15/2and 20/3 is 'C",
2719240 . what is the value of 6A + 2C - B109?

e 23/2 T 18/3 FT ARG A' & 129/15 HIT48/5 1 e 'B' & X 15/2 3R 20/3 HT 0TAG 'C
8. dT6A +2C - BI9 &1 A foha= &7

204
A

204

206
B

206

240
C

240

260
D

260

Correct Ans : A

Subject : MATH

Q.No: 128 Choose the correct pair of numbers, whose sum is divisible by 13.

2719241
T3h 1 98 et g gAY, Rrgesr aemea 13 | faursy g
3456,492

A
3456,492
2838, 3748

B
2838, 3748
14103, 45268

c

14103, 45268

D 755,353
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755,353
Correct Ans : C

Subject : MATH

Q.No: 129 The sum of P and Q. when subwacted from product of Qand B gives ax®* —(a +9)x’— Tx +a+ L. If
2719253 p (QandR is equal to 6x2 — 3x. 2x + 3 and x2— 4x + 2 respectively. then vahie of 'a’ is

Q 3R & IUTATS & T A WP AR Q FTAMTax’ — (a + 9)x*— Tx +a+ L BTG P. Q 3N
REHAM: 6x2— 3x 2x+ 3 HRNx? — 4x + 2 F & B, al'a' FIAA Bl

1
A

1

3
B

3

2
C

2

5
D

5

Correct Ans : C

Subject : MATH

Q.No: 130 Choose the correct pair:

2719254
A | Perfect Number I 3141592
B | Complex Number IT | 496
C | Cyclic Number I | 142+3i
D | Irrational Number | IV | 142857
TS g g
A oot gEaT I 3.141592
B | giegargen |11 | 496
C | o ger I | 142+35
D T e IV | 142857

A-II, B-1IV, C-III, D-I

A-II, B-1IV, C-III, D-I
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A-II, B-III, C-I, D-IV

B
A-II, B-III, C-I, D-IV
A-II, B-III, C-1V, D-I
C
A-II, B-III, C-1V, D-I
A-III, B-II, C-1IV, D-I
D

A-III, B-II, C-1V, D-I
Correct Ans : C

Subject : MATH

Q.No: 131 Find the range of speed of bike (in km/s), if a person rides it at speeds given below:

2719255
0.34, 0.76, 2.48, 3.45, 0.19, 4.43, 2.35, 2.69
e Pis fad 9 < 718 7 I S5 T@ar g, A STB! fd BT uRIR (fFH/Ads #) Id Fifv:
0.34, 0.76, 2.48, 3.45, 0.19, 4.43, 2.35, 2.69
2.35
A
2.35
4.43
B
4.43
4.24
C
4.24
4.46
D
4.46

Correct Ans : C

Subject : MATH

(227'\;.09215362 If the median of the odd numbers lying between 4 and 29 is m. then (m”— m)/3 is equal to

Ife 4 317 29 & Frar & g faws geanit 1 Jfeasm &, dr (m? — m)3 fFas sty

A 80
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80
12

12

16

16

92

92
Correct Ans : A

Subject : MATH

Q.No: 133 Choose the correct option, If A = 2P, B = 6P and C = 5P.
2719257

el fdbey &1 Iu BT, Il A = 2P, B = 6P 3R C = 5P 2l
(AxB)-(CxA)=(BxC)+2A2

A
(AxB)-(CxA)=(BxC)+2A2
(AxB)+ (CxA)=(BxC)-2A2

B
(AxB)+ (CxA)=(BxC)-2A2
(AxB)-(CxA)=(BxC)-2A2

C
(AxB)-(CxA)=(BxC)-2A2
(AXxB)+ (CxA)=(BxC)+2A2

D

(AxB)+ (CxA)=(BxC)+ 2A2
Correct Ans : B

Subject : MATH

Q.No: 134 Community environment is related to

2473656
YT ATATERU BT Y ..o I3
Society

A
[T

B Land
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uf

Water
c

ot

Climate
D

SIeTary

Correct Ans : A

Subject : Pedagogy

Q.No: 135 Which of the following is related with teaching skill?

2474535
frafafed & & @ Rigon Fia § el 82
Black-board writing
A
P 9IS AEH
Solving questions
B
TET I G
Asking questions
c
PER G|
All of the given options
D

feu 7 9t fawey

Correct Ans : D

Subject : Pedagogy

Q.No: 136 Which of the following is a prosocial behaviour?

2477607
fafofead & § o1F-91 e SRERTHS 298R 8?2
Altruism

A
WRIgSTIREr
Lying

B
ECEIRE

C Cheating
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eNar

Judgement

YRAT
Correct Ans : A

Subject : Pedagogy

Q.No: 137 1If a child is experiencing sadness/ irritability for most of the time of day and loss of interest in pleasurable activities for two
2477645 \yeeks may have?

e IS Fea1 o & M T Ierfly/fIsRisio &1 3gyd o1 8T 8 R 3 9we & R siFeems fafafiat § $fa @t g g, @ &

B uHdr g2
Depression
A
SEUIEY
Specific phobia
B
fafkre w4
Separation anxiety
Cc
QYFHROT fiam
Conversion disorder
D

TRl fAPR
Correct Ans : A

Subject : Pedagogy

Q.No: 138 What should parents do regularly to keep track if their adolescent children have fallen prey to substance-abuse?
2477711

1.Take account of pocket-money spent by the children.

2.Never leave the children out of their sight at all.

Choose the correct code -

I PR F= 7P Sl S 497 b RBR 81 7T § B o] o & forg Aar-fa &1 Frafi 0 § a1 S Aee?
1. 1 gR1 @9 fU 1T Uidhe-w &1 fewa |

2.5 & B f It TR § 3N 7 B

el e g -

A Only 1
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Fad 1
Only 2
B
Fad 1
Both 1 and 2
C
I 18R 2
Neither 1 nor 2
D

Jar1eiRad2

Correct Ans : A

Subject : Pedagogy

Q.No: 139 Which of the following is a part of the Law of Effect given by Thorndike?
2479360

frofafed # 9 o1 urerR® gR1 QT 7T yvEa & fFom &1 Te YR 82

When any conduction unit is ready to conduct, for it to do so is satisfying.

A
o9 BIg Haed IH1S Haed & 44 YR EiT & d9 SHP 3 Aae ST qaluwg gil ¢!
Repeated exercising of a response strengthens its connection with the stimulus and disuse weakens it.
B
WReA Y foraT Y IR-IR e W 4t 98 Sifte yHTaRmelt vd RIRf a9 Wt @ 3Fuy1 ey & ¥l fAwya g @t @1
Acts leading to satisfaction becomes associated with that situation.
C
w9 g9 HEq & ufvone & =iy, G@ 91 Y6Ear O gl 3, af 59 dad 31 3R awran () |/ ged 7
A person varies or changes hisfher response till an appropriate behaviour is
succeeded.
D

TF IUYF AGER WG g aF TP Afed - ufafehar sgerar Tgar 21
Correct Ans : C

Subject : Pedagogy

Q.No: 140 Emile by Jean Jacques Rousseau is also known as -
2479466

SfiF ST =4 gRT U Bl & ®qH f S S ®
Charter of childhood
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EECEEIR: Ll e
Development of childhood
B
U &1 fae
Freedom of Adolescence
C
framRTawT Ft ez
Reconstruction of education
D

frem o1 gafufor

Correct Ans : A

Subject : Pedagogy

Q.No: 141 Persons high on which of the following aspects integrate different experiences in an original way to make new discoveries
2479793 and inventions?

fofefed & 9 fry usq R I T @ aTat AT faTrd sryat oY Aiftre T § IHTEhid dRA § aUT THR & Tiferds THIYH @iod gU
MISHR Hd &2

Contextual Sub-Theory

A
wefife Sufdrsia
Experimental Sub-Theory
B
UfaP IuRrgia
Componential Sub-Theory
Cc
qeHIg IS
Performance Sub-Theory
D

fArwreT Sufrgia
Correct Ans : B

Subject : Pedagogy

Q.No: 142 Which of the following is not true about Stanford-Binet Intelligence Scale?
2479843

fofafed o I S HF RABES - I g T (Gl W) & R § I8 6 82

The test developed by Binet and Simon for the children.

fom st wr=a gt faeRia A aRemr ol & fore s=mar mam ur

B Now we have the fourth edition of Stanford-Binet (S-B IV) scale.
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3T FHR U RABIS - 99 g Aot (Ta-at 1v) 0™ &1 i oo g1

It has 15 tests selected to represent four major cognitive areas: verbal reasoning, abstract/visual reasoning,
quantitative reasoning, and short-term memory.

C
TUH IR UHE AFHEIAS &5 31 yfafAiftg $39 & i 15 wferor g7 1 §: Wi ab, ongd/Txg ok, aEres ab, iR
SeqhTiers Ffdl
Its administration involves four stages.

D

TP YTEE § IR )07 Q1A g
Correct Ans : D

Subject : Pedagogy

Q.No: 143 Which of the following is the best way to avoid propagation of gender stereotypes in classroom?
2480192

I. Pick stories that reflect and comment positively and equally on all genders.

I1. Put students into mix-gendered learning groups to ensure cross gender friendships.

III. Select stories for classroom discussion that affirm gender stereotypes.

Fe W i wfearfedr & UaR A =7 &1 Ted 331 el Feffad § ¥ $19-91 82

1.0 FEal &1 989 S S gt ol R 9oRIe® SR 99F w4 9 wfafsfad ok fewoft av)
I1. 19 o Bt gfda o & fo faenfiat &) fifa-fei are Reor et & =nfia &=

111. Sem o =i & g Tft werfat &1 T 31 S e el @t gfY e

Both I and II

A
I 3R 11 1
Both II and III
B
II 3R III g1
Only II
C
Fad II
Only III
D
ad 111

Correct Ans : A

Subject : Pedagogy

Q.No: 144 What does CRC stand for in computer parlance?
2650221
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gy IRe H CRC ®1 3 @ 72
Cycle Reducing Cycle

A
Cycle Reducing Cycle
Cyclic Redundancy Cycle

B
Cyclic Redundancy Cycle
Circle Redundant Circle

C
Circle Redundant Circle
Cyclic Redundancy Check

D

Cyclic Redundancy Check
Correct Ans : D

Subject : Gen. Gnowledge &Current Affa.

Q.No: 145 When does Anti-Tobacco Day celebrated?

2650244
a1 fRieft feaw e T ST g2
April 28
A
28 3id
June 29
B
29 A
March 30
C
30 Arf
May 31
D
310

Correct Ans : D

Subject : Gen. Gnowledge &Current Affa.

Q.No: 146 Who was the first Governor of Madhya Pradesh?
2651062

T U F UUH IeTuTd B A?

A P. Ravishankar shukla
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. =i g

B. P. Sitaramayya
B

.. Haraan

Kailash Joshi
c

Far i

Dr. Shankar dayal sharma
D

ST 2@ gaTa Wt
Correct Ans : B

Subject : Gen. Gnowledge &Current Affa.

Q.No: 147 Which of the following is India's largest and oldest business organisation in India?

2651497
fofafed o § YR &1 99 987 3R Ja RAT AURS FT6- HH-7 82
FICCI
A
THSTSAIRteTS (FICCI)
India Inc.
B
gf$ar §% (India Inc.)
SEBI
C
It (SEBI)
BCCI
D
dRiRfeng (BCCI)

Correct Ans : A

Subject : Gen. Gnowledge &Current Affa.

Q.No: 148 Find the related word from the given alternatives.
2653619

Pen : Write
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fou ¢ Al @ Gefiid Teg &1 99T B

HaY ; foran

Knife : Cut
P : PIcHl

Nib : Pencil
e : TR

Car : Sitting
PR : §6F
Scholar : Book
fagm : gwe

Correct Ans : A

D

Subject : Gen. Reasoning (Numerical Abi.

Q.No: 149 How many smaller pieces are obtained by making two cuts in X plane and three cuts in a perpendicular plane Y on the same
2653701  pe?

TH & T R X a0 § & o 3R U diaad dd Y § a9 Pe a9 I fhda B goha U 81 872

6
A

6

12
B

12

9
C

9

16
D

16

Correct Ans : B

Subject : Gen. Reasoning (Numerical Abi.

Q.No: 150 X is the husband of P. P is the daughter of A and B. B is the father of P. How A is related to B?

2653749
X, PHTUI B P, A 3R B &t Tl 31 B, P &1 a1 31 A, B I {5y UsR Tafia g2
Wife

A
el

B Husband
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ofa
Father
c
R
Son
D
et

Correct Ans : A

Subject : Gen. Reasoning (Numerical Abi.
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